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Section — A is compulsory. All parts of this
section are to be answered on this page and
handed over to the Centre Superintendent.
Deleting/overwriting is not allowed. Do not use
lead pencil.
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MATHEMATICS SSC-i
(Science Group)

SECTION - A (Marks 15)
Time allowed: 20 Minutes

Fill the relevant bubble against each question:

Sign. of Candidate

Sign. of Invigilator

LiplSplel s 361 sz e dindy
.ﬁ;&)"dplb’ﬁ?wc‘;,ljjc«)‘blgfguw/&(.L[/

-qfx_:;(u/'bc/uZL,J&lréJif/:

a b

c
if 4=[1 2],B= then what
2] I:I 2 3]

is the order of matrix AB?

1 e b e O 1-by-3 O 2-by-2 3-by-1 (O 3-by-2
¥AB_57 B= 9! A=[1 2]ﬁ
1 2 3
el
What equals - in the following
,  options? _ ; 1 - O 4
] ‘.'é,/j/_é(j(—l'3 u:a/}@/) O
What is the value of log,3 is? i
3. 0g; ) 3 O 0 0.48 O Not Passible
?Jﬁgoéu(logl 3 yﬁt
1 .
- is equal to:
4. | 1+3 O 2443 2+43 O -—2-v3
esls — \/5
Factorization of x* —2x+1is: ) )
5. N (x-1 (x+1) (x~D(x+1) (x+2)x-1)
s A8 X —2x+1 O O
What is the square root of
2
Bk [—(a+b-o)f
Which one of the following is a
2
solution of 6—=x<0 ?
7. 3 x>9 O x>-9 x<9 O x<-9
?bcdab/6 - -;—x <0 ‘:«I’V/:;l/ul(u:u;@/;
Which of the following lines passes
g through(0,0)? x—1=0 O »=2 y=2x+3 O y=2x
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If medians of a triangle are equal in Right
g length, then the triangle is: O Equilateral O Scalene O Isosceles O " isosceles
TS elwlusdasdd s le i LB o FUIGS PGS 26
-+
If one interior angle of a
parallelogram is 60° , then its
10. opposite interior angle is: 60° 120° 180° 360°
e iie 60° ,,IJJ,/;I,,_{IK(,WUIW?/I O O O O
?(ﬂb:‘;:’]duil
In a parallelogram ABCD, if m<£B is
obtuse then the longest segment is:
D C
T (7 O o O %@ O O @
, B
Iz LimLB Jit ABCDEM IS5
?.:"_E/u/ﬁ.xg(/c—
What is the length of the side of a
square, if its diagonal is J8cm long?
D $ C
RN
12. O 3 O 2 O 4 O s
A x B
fe\8cm JL«/J/';LJU’JJMK&,IJﬁL(‘}/ ¢
What is the solution set of
x+7+7=07 ; :
13. [x+7] O O {140} O {0-14 O f1a-4
e fer P|x+7|+7=0 cnl
Which one of the following is a point
of intersection of the angle bisectors Circum
14, of a triangle? O In-centre O centre O Orthocentre O Centroid
?‘gﬁﬂw&l}duiléw‘bﬁvui/gﬂs}Zy/) f/(}u}l if/v/li )(/d)/ V)//
3, 344
The simplified form of 1220) is:
15. s aw O 4t O ax? O 4 O ax
. 1253 (x%)
:.adﬁ /"' O/ T
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MATHEMATICS SSC-I

Y

(Science Group)

Time allowed: 2:40 Hours

Total Marks Sections B and C: 60

NOTE: Answer any nine parts from Section ‘B’ and any three questions from Section ‘C’ on the separately
provided answer book. Use supplementary answer sheet i.e. Sheet-B if required. Write your answers
neatly and legibly. Logbook and graph paper will be provided on demand.

Q.2

Note:
Q.3

Q.4
Q.5

Q.6
Q.7

Attempt any NINE parts. All parts carry equal marks. (9x4=36)
()  Findthe values of x and y if _2[—x 3 }u{“ 2 }:[0 2 ]

1 =2 1 =2y {2 -12
(i) Simplify the expression 2 ?i and write the answer in the forma + b;

I

A o
(i) Simplify (x””}(w}(;*”J
(iv) Find xif log,(x*-2)=2
(v) If x=2-+/3 , find the values of x+Land x-1

X X
(vi) Factorize: 1—x” — y* + 2xy
(vii) Find the square root of 9x* - 24x’ ~14x* +40x +25
(viiij  Solve the inequality -;5+ ’%3 > -231—%(2;: +3) where xeWw
(iX)  Solve: 2% =§
(x) Draw the graph of y+4x+2=0 by taking at least four ordered pairs.
(xi) Using distance formula, show that points 4(12,8), 8(-2,6) and C(6,0) form a right triangle.
(xii) Any point inside an angle, equidistant from its arms, is on the bisector of it. Prove it.
(xiii)  In A4BC, internal angle bisector of Z4 meets CB at the point D such that

mBD:mDC =mAB: mAC . Find the value of x.
(xiv)  Inright A4BC , find the value of x if DE f 4B.
SECTION - C (Marks 24)
Attempt any THREE questions. All questions carry equal marks. (3 x8=24)

SECTION - B (Marks 36)

Solve the following system of linear equations by using the matrix inversion method. 4x-6y=-2, x+3y=7

Show that the points 4(2,-3), B(6,-3), C(6,4) and D(2,4) are the vertices of a rectangle.

Solve the system of linear equations x+2y=-1, 4x-3y=18 by using the graphical method.

If two opposite sides of a quadrilateral are congruent and parallel, it is a parallelogram. Prove it.

From the following data, construct a triangle ABC. Draw two altitudes of triangle ABC. Write the construction

steps also. mAB = Scm, mZA=45°, mBC = 6cm
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-2 1 2y |2 -12

2+3i Jgﬂ;‘fﬁd’ a+bi y’i-”u.//i?

24i
)z
e ed s Fog (0 -2 =2 ]
-gj"/r)"u.‘:ng—;lc-Jﬂx+%;x=2—\/§ﬁ
1-x%—y% +2xp ;J':d/;
Ox* = 24x° — 14x? +40x + 25 / /| S /u@(éﬁd}.;

er.?%+x—;§.>_—23£—§(2x+3) J_/U’/@bl//;;
5-;9x =ﬁ31_ U:/Jp

y+ax+2=0 JSIE G A Lussnai il

bk I N6 LT C(6,0) 481 B(=2,6), A02,8) b6 S el e sa§ oy i Ao
-g_bnél,4wt£4_,tjur oI IS Uss ik E 1B LIS U Ba i J:,JUJ( Sy ek
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(3x8 = 24) s Ludr - gE S Dired < 35
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